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Variables

Pitch

*Shape of holes

*Applied voltage
*Radiation intensity

*Gas composition (Ne, Ar...)
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Output=Signal*Noise
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If my signal is a Gaussian

o ] =  The outcome is a Gaussean
If the noise is Gaussian

(<)
(“fallacy of the converse”)







THINGS | LEFT OUT BECAUSE OF
LACK OF TIME... (OR SUGGESTED
QUESTIONS):

®Why GEM?
®What is a single wire?

®Which radioactive sources do we use
for testing?

®Where does the Power Bar live?
®Security measurements for radiation

®Why two Gaussians in energy
resolution?




